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A 10 minute workout
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[image: image17.png]Julie is 92cm tall Lisa Tom is 184cm tall
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Mental Exercise
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 Fiona
Look carefully at Sam and Fiona’s statements – Do you agree or disagree?  Explain why?


Challenge


Without using a ruler find 3 items that each measure about one metre.





Now measure each item and calculate how close your estimates were to the benchmark of 1m.  Give the difference in mm. Were you under or over?








�		Challenge			�


Which has more Coke? 





A 2 litre bottle or a six pack of 330ml cans?





How many 250ml classes could you fill from two 2l bottles, three 1l bottles and a ½ litre bottle?








Today on the web – How’s your logic?


www.mathsisfun.com











� HYPERLINK "http://www.mathsisfun.com/puzzles/burning-island.html" ��Burning Island�					� HYPERLINK "http://www.mathsisfun.com/puzzles/crates-of-fruit.html" ��Crates of Fruit�





Today on the web


� HYPERLINK "http://www.bbc.co.uk/schools/ks2bitesize/maths/activities/mentalmaths.shtml" ��Mental Maths�


You can use this site at home too!











Challenge - The Domino Effect


�


Did you know that the spots on a domino are called pips?


If you wanted to work out how many pips in a standard set of Double Six, how would you go about it?


What might you do first?


How would you record what you do?


How could you check if you are correct? 




















Mental Exercise


£1.00  =  US$1.684


How much American money would you get if you exchanged £10, £100 or £1000?





Mental Exercise


Use >, < or = to complete each equation





2² + 4²		6²		7² + 7²		10²





3² + 4²		5²		6² + 8²		10²





Mental Exercise


�


Working on the quads!


Name as many quadrilaterals as you can that have...


One line of symmetry		Two lines of symmetry


Four lines of symmetry	NO lines of symmetry





Mental Exercise


A draughts board is a square made up of 64 smaller squares of the same size. If the perimeter of the board is 64cm, what is the area of each of the smaller squares?














In a triangle, each internal angle must be 90 degrees or less, because the three angles add up to 270°




















Lisa equals Julie plus half of difference between Julie and Tom or Tom minus half of difference between Julie and Tom


 Lisa’s height = 92 + ½ x (184-92)   or     = 184 – ½ x (184-92)


	         = 92 + (½  x 92)	             = 184 - (½ x 92) 


	         = 92 + 46			= 184 - 46


	         = 138cm			= 138cm








X10, x100, x1000


1.684 x 10 = $16.84


1.684 x 100 = $168.40


1.684 x 1000 = $1684
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Here is a picture of three people.


�





Lisa’s height is half-way between Julie’s height and Tom’s height. Calculate Lisa’s height.








If you add a two-digit number to a two-digit number you cannot get a four-digit number.








�





�





Move it – just a fraction!





5m = 500cm


9cm = 90mm


8000mm = 8m (divide by 1000)








4 + 16 < 36      49 + 49 < 100








9 + 16 = 25      36 + 64 = 100





2l = 2000ml


330 x 6 = 1980ml





4000+3000+500 = 7500ml


7500 ÷ 250 = 30





2 x 7cm (





(  7cm





(2 x 7cm 





Perimeter = 7+7+7+14+14 = 49cm 





7cm (





l = 11-5


 = 6cm


(








Perimeter = 5+11+6+5+11+16 = 54cm 





L = 11+ 5


   =16cm (





(4,6)c





A is the same distance away from (20,27) as (35,17) is from (15,17) so 35 – 15 = 20





A is on the same y axis as (20,27)





The board has to be 8 smaller squares x 8 smaller squares.


The length of each side of boards = 64 ÷4


The length of each small square 8 x ? = 16 [2cm]


Area of small square = 2 x 2 =4cm²





(B,B), (B,1), (B,2), (B,3), (B,4), (B,5), (B,6)	[21]


(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)	[27]


(2,2), (2,3), (2,4), (2,5), (2,6)	[30]


(3,3), (3,4), (3,5), (3,6)	[30]


(4,4), (4,5), (4,6)	[27]


(5,5), (5,6)	[21]


(6,6)	[12]





21+27+30+30+27+21+12=168





Smaller rectangle


4cm x 3cm (3=10-7)


Area =12cm²








(





(





Larger rectangle


10cm x 7cm


Area =70cm²








Total Area = 70+12


                 = 82cm²








Or take away cut out area (3cmx 6cm=18cm²) from area of square (100cm²) 100-18=82cm² 





Any 3 numbers that total 27








Any numbers with number 11 appearing more than the others (eg 11,3,12,7,11 or 2,11,5,11,11)





Disagree – the sum of the internal angles of a triangle equals 180°. (Each angle would have to be less than 180°, i.e. 178+1+1; 60+60+60; 90+45+45)











Agree – the largest two-digit number is 99 and 99+99=198





3


6








 6 


12








3/7 [4/7], 3/9 [6/9], 3/11 [8/11],


5/11 [6/11]


 [difference could be equivalent to those shown above]








4 – square


2 – rectangle, rhombus


1 – kite, isosceles trapezium


0 – parallelogram, irregular quadrilateral, trapezium








Day  1

